
 Modification Bulletin PAGE: 1/1 

Reissued:28-Mar-08 

Model: Bellini-C3 Booklet Finisher (KARUN) Date: 14-Nov-07 No.: MB836001a 
 
 

 

Serial Number Update 
The Serial Number information has been updated. 

 
 

Old part 
number 

New part 
number 

Description Q’ty Int Page Index Note

B7931312 B7931313 Caster H43 1 O/O 37 15  

Change/Reason: Parts standardization. 
 
Serial Number 
 

Modified Article: Caster H43 Prepared by: S. Ishizu 

From: 2nd Tech. Support Sec. Service Support Dept.  

Reason for 

Modification: 

 Parts catalog correction

 To facilitate assembly 

 Part standardization 

 Vendor change 

 To improve reliability 

 Product Safety 

 Other 

 To meet standards 
(     ) 

Mo de l  S e r i a l    N o .

B 8 3 61 7  L 6 3 7 02 0 0 22

B 8 3 62 6  9 Z 80 3 7 0 00 1



 Modification Bulletin PAGE: 1/1 

Model: Bellini-C3 Booklet Finisher(KARUN) Date: 14-Nov-07 No.: MB836002 
 

 

 

Modified Article: PCB: Stp: Control Prepared by: S. Ishizu 

From: 2nd Tech. Support Sec. Service Support Dept.  

Reason for 

Modification: 

 Parts catalog correction 

 To facilitate assembly 

 Part standardization 

 Vendor change 

 To improve reliability 

 Product Safety 

 Other 

 To meet standards 
(RoHS Compliant) 

 
 

Old part 
number 

New part 
number 

Description Q’ty Int Page Index Note 

B7005200 B7005210 PCB: Stp: Control 1 X/O 33 6  

Change: The material of this part was changed. 
Reason: To comply with the RoHS Directive. 
 
 



 Modification Bulletin PAGE: 1/1 

Model: Bellini-C3 BookletFinisher (KARUN) Date: 28-Mar-08 No.: MB836003 
 

 

 

Modified Article: Tear Cover Bracket – Left Prepared by: S. Ishizu 

From: 2nd Tech. Support Sec. Service Support Dept.  

Reason for 

Modification: 

 Parts catalog correction

 To facilitate assembly 

 Part standardization 

 Vendor change 

 To improve reliability 

 Product Safety 

 Other 

 To meet standards 
(     ) 

 
 

Old part 
number 

New part 
number 

Description Q’ty Int Page Index Note

B8361163 C3101163 Tear Cover Bracket – Left 3 O/O 31 12  

B8362821 C3102821 Exit Guide Plate - Lower 1 O/O 5 3  

Change/Reason:  
1) Parts standardization 
2) The index number for the following part was corrected, and its extra description was 
deleted. 

 

Part number Description Q’ty Page Index Note 
B8361163 Tear Cover Bracket – Left 1 31 17  

 

121212

 
 



 Modification Bulletin PAGE: 1/1 

Model: Bellini-C3 BookletFinisher (KARUN) Date: 13-Jun-08 No.: MB836004 
 

 

 

Modified Article: Caster: Dia50: 400n Prepared by: S. Ishizu 

From: 2nd Tech. Support Sec. Service Support Dept.  

Reason for 

Modification: 

 Parts catalog correction

 To facilitate assembly 

 Part standardization 

 Vendor change 

 To improve reliability 

 Product Safety 

 Other 

 To meet standards 
(     ) 

 
 

Old part 
number 

New part 
number 

Description Q’ty Int Page Index Note

AH012030 B8041035 Caster: Dia50: 400n 2 O/O 37 16  

Change/ Reason: Parts standardization. 

 



 Modification Bulletin PAGE: 1/1 

Model: Bellini-C3 BookletFinisher (KARUN) Date: 12-Sep-08 No.: MB836005 
 

 

 

Modified Article: Timing Belt – B60S3M954 Prepared by: S. Ishizu 

From: 2nd Tech. Support Sec. Service Support Dept.  

Reason for 

Modification: 

 Parts catalog correction

 To facilitate assembly 

 Part standardization 

 Vendor change 

 To improve reliability 

 Product Safety 

 Other 

 To meet standards 
(     ) 

 
 

Old part 
number 

New part 
number 

Description Q’ty Int Page Index Note

B8361912 B7004335 Timing Belt – B60S3M954 1 O/O 31 3  

Change/ Reason: Parts standardization 

 



 Modification Bulletin PAGE: 1/1 

Model: Bellini-C3 Booklet Finisher (KARUN) Date: 7-Oct-08 No.: MB836006 
 

 

 

Modified Article: PCB Main Control  Prepared by: T. Tadokoro 

From: PPBG QA/Service Planning Dept.  

Reason for 

Modification: 

 Parts catalog correction

 To facilitate assembly 

 Part standardization 

 Vendor change 

 To improve reliability 

 Product Safety 

 Other 

 To meet standards 
(     ) 

 
 

Old part 
number 

New part 
number 

Description Q’ty Int Page Index Note

B8365502 B8365505 PCB Main Control 1 O/O 33 4  

Change/ Reason: The software was modified. 

 



 Modification Bulletin PAGE: 1/1 

Model: Bellini-C3 Booklet Finisher (KARUN) Date: 20-Nov-08 No.: MB836007 
 

 

 

Modified Article: Cover:Push Swich Prepared by: S. Ishizu 

From: 2nd Tech. Support Sec. Service Support Dept.  

Reason for 

Modification: 

 Parts catalog correction

 To facilitate assembly 

 Part standardization 

 Vendor change 

 To improve reliability 

 Product Safety 

 Other 

 To meet standards 
(     ) 

 
 

Old part 
number 

New part 
number 

Description Q’ty Int Page Index Note

- D3736102 Cover:Push Swich 1 - 9 21*  

*: New Index 

Change: A cover was added. 

Reason: To further product safety 

 
 
 
 

D3736102D3736102



Part Change Information List

Model Code

PCIL

Number

PCIL

Correction

Old

part number

New

part number Description Old Q’ty New Q’ty Int 3DPC Page Index Set Set Int RTB Note Ref Number

Bellini-C3 BookletFinisher (KARUN) B836 200904 B8307512 B8307516 GUIDE PLATE:CONNECTING:UPPER 1 1 O/O 4 9 V0804132

Bellini-C3 BookletFinisher (KARUN) B836 200904 04513006N 04543006Q TAPPING SCREW - M3X6 178 178 O/O 2 101 V0900627

Bellini-C3 BookletFinisher (KARUN) B836 200904 04513006N 04543006Q TAPPING SCREW - M3X6 n n O/O 6 110 V0900627

Bellini-C3 BookletFinisher (KARUN) B836 200904 04513006N 04543006Q TAPPING SCREW - M3X6 n n O/O 16 101 V0900627

Bellini-C3 BookletFinisher (KARUN) B836 200904 04513006N 04543006Q TAPPING SCREW - M3X6 n n O/O 18 101 V0900627

Bellini-C3 BookletFinisher (KARUN) B836 200904 04513006N 04543006Q TAPPING SCREW - M3X6 n n O/O 20 105 V0900627

Bellini-C3 BookletFinisher (KARUN) B836 200904 04513006N 04543006Q TAPPING SCREW - M3X6 n n O/O 22 101 V0900627

Bellini-C3 BookletFinisher (KARUN) B836 200904 04513006N 04543006Q TAPPING SCREW - M3X6 n n O/O 24 101 V0900627

Bellini-C3 BookletFinisher (KARUN) B836 200904 04513006N 04543006Q TAPPING SCREW - M3X6 n n O/O 26 102 V0900627

Bellini-C3 BookletFinisher (KARUN) B836 200904 04513006N 04543006Q TAPPING SCREW - M3X6 n n O/O 28 101 V0900627

Bellini-C3 BookletFinisher (KARUN) B836 200904 04513006N 04543006Q TAPPING SCREW - M3X6 n n O/O 30 102 V0900627

Bellini-C3 BookletFinisher (KARUN) B836 200904 04513006N 04543006Q TAPPING SCREW - M3X6 n n O/O 34 103 V0900627

Bellini-C3 BookletFinisher (KARUN) B836 200904 04513006N 04543006Q TAPPING SCREW - M3X6 n n O/O 36 103 V0900627

Bellini-C3 BookletFinisher (KARUN) B836 200904 12042541 12042844 SWITCH:FA1L-CJAH 1 1 X/O 8 108 V0900676

Date: April 30, 2009



Part Change Information List Date: May 30, 2009

Model Code
PCIL

Number

PCIL

Correction

Old

part number

New

part number
Description Old Q’ty New Q’ty Int 3DPC Page Index Set Set Int RTB Note Ref Number

Katana-C1 BookletFinisher (KARUN) B836 200905 B7001031 D3731031 BRACKET:GROUND PLATE:ASS'Y 1 1 O/O 36 19 V0900627



Part Change Information List Date: July 31, 2009

Model Code PCIL Nr.
PCIL 

Correction

Old part 

number

New part 

number
Description Old Q'ty New Q'ty Int 3DPC Page Index Set Set Int RTB Note Ref. Nr.

Katana-C1 BookletFinisher (KARUN) B836 200907 AA143790 B8301135 SCREW 1 1 X/O 8 18 V0901250

Katana-C1 BookletFinisher (KARUN) B836 200907 AA143790 B8301135 SCREW 1 1 X/O 16 11 V0901250

Katana-C1 BookletFinisher (KARUN) B836 200907 AA143790 B8301135 SCREW 1 1 X/O 18 1 V0901250

Katana-C1 BookletFinisher (KARUN) B836 200907 AA143790 B8301135 SCREW 1 1 X/O 22 15 V0901250

Katana-C1 BookletFinisher (KARUN) B836 200907 AA143790 B8301135 SCREW 2 2 X/O 24 18 V0901250



Part Change Information List Date: January 29, 2010

Model Code PCIL Nr.
PCIL 

Correction

Old part 

number

New part 

number
Description

Old 

Q'ty

New 

Q'ty
Int 3DPC Page Index Set Set Int RTB Note Ref. Nr. ECN Nr.

Katana-C1 Booklet Finisher BK5000 B836 201001 B7004180 B7004185 STAPLER TRAY 1 1 X/O 17 16 V0903237 9110663



Part Change Information List Date: March 31, 2011

Model Code PCIL Nr.
PCIL

Correction

Old part

number

New part

number
Description Old Q'ty New Q'ty Int 3DPC Page Index Set Set Int RTB Note Ref. Nr. ECN Nr.

Katana-C1 Booklet Finisher BK5000 B836 201007 Correct B8301135 D5224906 STEPPED SCREW:M3:DIA6:1.7MM:ROUND POINT 1 1 X/O 5 13 Index was corrected. V1000690 10010563

Katana-C1 Booklet Finisher BK5000 B836 201007 Correct B8301135 D5224906 STEPPED SCREW:M3:DIA6:1.7MM:ROUND POINT 1 1 X/O 31 7 Index was corrected. V1000690 10010563

Katana-C1 Booklet Finisher BK5000 B836 201007 Correct B8301135 D5224906 STEPPED SCREW:M3:DIA6:1.7MM:ROUND POINT 1 1 X/O 35 6 Index was corrected. V1000690 10010563

Katana-C1 Booklet Finisher BK5000 B836 201007 D3734180 B8044180 STAPLER TRAY 1 1 X/O 17 16 V1000849 10031517

Katana-C1 Booklet Finisher BK5000 B836 201007 B7003705 B8043705 GUIDE PLATE:PAPER EXIT SUB-UNIT:PAPER CRIMP 1 1 X/X 37 5 C RB836002 V1001003 10031685

Katana-C1 Booklet Finisher BK5000 B836 201007 B8043851 B8043853 TRAY:PAPER CRIMP SUB-UNIT 1 1 X/O 3 19 V1001067 10031475

O'Brien
51-6 should be 5-13
53-10 should be 31-7
55-15 should be 35-6

O'Brien




Part Change Information List Date: Aug 31, 2010

Model Code PCIL Nr.
PCIL

Correction

Old part

number

New part

number
Description Old Q'ty New Q'ty Int 3DPC Page Index Set Set Int RTB Note Ref. Nr. ECN Nr.

Katana-C1 Booklet Finisher BK5000 B836 201007 Correct B8301135 D5224906 STEPPED SCREW:M3:DIA6:1.7MM:ROUND POINT 1 1 X/O 5 13 V1000690 10010563

Katana-C1 Booklet Finisher BK5000 B836 201007 Correct B8301135 D5224906 STEPPED SCREW:M3:DIA6:1.7MM:ROUND POINT 1 1 X/O 31 7 V1000690 10010563

Katana-C1 Booklet Finisher BK5000 B836 201007 Correct B8301135 D5224906 STEPPED SCREW:M3:DIA6:1.7MM:ROUND POINT 1 1 X/O 35 6 V1000690 10010563



Part Change Information List Date: September 30, 2010

Model Code PCIL Nr.
PCIL

Correction

Old part

number

New part

number
Description Old Q'ty New Q'ty Int 3DPC Page Index Set Set Int RTB Note Ref. Nr. ECN Nr.

Katana-C1 Booklet Finisher BK5000 B836 201009 B7001801 B8041801 BRACKET:STEPPER MOTOR:GATHERING ROLLER 1 1 X/O 35 22 V1001003 10031685



Part Change Information List Date: October 29, 2010

Model Code PCIL Nr.
PCIL

Correction

Old part

number

New part

number
Description Old Q'ty New Q'ty Int 3DPC Page Index Set Set Int RTB Note Ref. Nr. ECN Nr.

Katana-C1 Booklet Finisher BK5000 B836 201010 B7004185 D3734180 STAPLER TRAY 1 1 X/O 17 16 A Y V0903279 9120293

Katana-C1 Booklet Finisher BK5000 B836 201010 B7004167 D3734167 STAY:LOWER:POSITIONING SENSOR 1 1 X/O 23 6 A Y V0903279 9120293



Part Change Information List Date: March 31, 2011

Model Code PCIL Nr.
PCIL

Correction

Old part

number

New part

number
Description Old Q'ty New Q'ty Int 3DPC Page Index Set Set Int RTB Note Ref. Nr. ECN Nr.

Katana-C1 Booklet Finisher BK5000 B836 201011 B7005407 B8045457 HARNESS:CONNECTING:PAPER EXIT SUB-UNIT 1 1 X/X 37 2 C RB836002 V1001003 10031685



1/1

Part Change Information List Date: January 31, 2012

Model Code PCIL Nr.
PCIL 

Correction

Old part 

number

New part 

number
Description Old Q'ty New Q'ty Int 3DPC Page Index Set Set Int RTB Note Ref. Nr. ECN Nr.

Katana-C1 Booklet Finisher BK5000 B836 201201 B8043853 D3733851 TRAY:PAPER CRIMP SUB-UNIT:ASS'Y 1 1 O/O 3 19 V1101556
Katana-C1 Booklet Finisher BK5000 B836 201201 B8043851 B8043853 TRAY:PAPER CRIMP SUB-UNIT 1 1 X/O 37 8 V1101498

O'Brien




1/1

Part Change Information List Date: March 30, 2012

Model Code PCIL Nr.
PCIL 

Correction

Old part 

number

New part 

number
Description Old Q'ty New Q'ty Int 3DPC Page Index Set Set Int RTB Note Ref. Nr. ECN Nr.

Katana-C1 Booklet Finisher BK5000 B836 201203 B8043853 D3733851 TRAY:PAPER CRIMP SUB-UNIT:ASS'Y 1 1 O/O 3 19 V1101297 11051529



1/1

Part Change Information List Date: April 27, 2012

Model Code PCIL Nr.
PCIL 

Correction

Old part 

number

New part 

number
Description Old Q'ty New Q'ty Int 3DPC Page Index Set Set Int RTB Note Ref. Nr. ECN Nr.

BOOKLET FINISHER BK5000 B836 201204 B7002474 B8042474 DISCHARGE BRUSH:EXIT:STAPLER TRAY 2 2 X/O 13 22 T0701639
BOOKLET FINISHER BK5000 B836 201204 B7002477 B8042477 DISCHARGE BRUSH:EXIT:STAPLER TRAY 1 1 X/O 13 23 T0701639



1/1

Part Change Information List Date: May 31, 2012

Model Code PCIL Nr.
PCIL

Correction

Old part

number

New part

number
Description

Old

Q'ty

New

Q'ty
Int 3DPC Page Index Set Set Int RTB Note Ref. Nr. ECN Nr.

Katana-C1 Booklet Finisher BK5000 B836 201205 B7004540 B7004541 INNER COVER:STAPLER UNIT 1 1 O/O 15 11 V1102040 11070358



1/1

Part Change Information List Date: June 29, 2012

Model Code PCIL Nr.
PCIL 

Correction

Old part 

number

New part 

number
Description

Old 

Q'ty

New 

Q'ty
Int 3DPC Page Index Set Set Int RTB Note Ref. Nr. ECN Nr.

Katana-C1 Booklet Finisher BK5000 B836 201206 B7003720 B8043720 ARM:PAPER SENSER:PAPER EXIT SUB-UNIT:PAPER CRIMP 1 1 X/O 37 8 V1101498



1/1

Part Change Information List Date: November 30, 2012

Model Code PCIL Nr.
PCIL 

Correction

Old part 

number

New part 

number
Description

Old 

Q'ty

New 

Q'ty
Int 3DPC Page Index Set

Set 

Int
RTB Note Ref. Nr. ECN Nr.

Katana-C1 Booklet Finisher BK5000 B836 201211 B7006105 B7006106 INNER COVER:LOWER 1 1 O/O 11 15 V1102040 11070358



1/1

Part Change Information List Date: November 29, 2013

Model Code

PCIL 

Number

PCIL 

Correction

Old part 

number

New part 

number Description

Old 

Q’ty

New 

Q’ty Int 3DPC Page Index Set

Set 

Int RTB Note Ref Number

ECN 

Number

Katana-C1 Booklet Finisher BK5000 B836 201301 D5224906 B8301135 SCREW 9 2 X/O 31 7 V1203910 12090036



1/1

Part Change Information List Date: April 26, 2013

Model Code

PCIL 

Number

PCIL 

Correction

Old part 

number

New part 

number Description

Old 

Q’ty

New 

Q’ty Int 3DPC Page Index Set

Set 

Int RTB Note Ref Number

ECN 

Number

Katana-C1 Booklet Finisher BK5000 B836 201304 B7004250 D6114250 EXIT BELT:ASS'Y 1 1 O/O 17 15 V1202225 12081242

Katana-C1 Booklet Finisher BK5000 B836 201304 B7005405 B7005423 HARNESS:CONNECTING:STAPLER:STAPLE EXCHANGE 1 1 O/O 19 17 V1203911 12112077

Katana-C1 Booklet Finisher BK5000 B836 201304 B7005431 B7005434 HARNESS:STAPLE:MIDDLE:SUB-ASS'Y 1 1 O/O 23 2 V1203911 12112077

Katana-C1 Booklet Finisher BK5000 B836 201304 B7005419 B7005426 HARNESS:CONNECTING:SENSOR 1 1 O/O 23 8 V1203911 12112077

Katana-C1 Booklet Finisher BK5000 B836 201304 B7005411 B7005427 HARNESS:SENSOR:PLATE:END FENCE 1 1 O/O 27 12 V1203911 12112077

Katana-C1 Booklet Finisher BK5000 B836 201304 B7005401 B7005421 HARNESS:CONNECTING:STAPLE:BASE 1 1 O/O 33 7 V1203911 12112077

Katana-C1 Booklet Finisher BK5000 B836 201304 B7005301 B7005336 HARNESS:SAFETY SWITCH 1 1 O/O 33 11 V1203911 12112077

Katana-C1 Booklet Finisher BK5000 B836 201304 B7005430 B7005429 HARNESS:STAPLE:MIDDLE:SUB-ASS'Y 1 1 O/O 35 14 V1203911 12112077

Katana-C1 Booklet Finisher BK5000 B836 201304 B8045457 B8045458 HARNESS:CONNECTING:PAPER EXIT SUB-UNIT 1 1 O/O 37 2 V1203911 12112077



1/1

Part Change Information List Date: August 30, 2013

Model Code

PCIL 

Number

PCIL 

Correction

Old part 

number

New part 

number Description

Old 

Q’ty

New 

Q’ty Int 3DPC Page Index Set

Set 

Int RTB Note Ref Number

ECN 

Number

Katana-C1 Booklet Finisher BK5000 B836 201308 B7004213 D6114213 TIMING BELT:JOGGER 1 1 O/O 17 14 V1202225 12081242



1/1

Part Change Information List Date: January 31, 2014

Model Code PCIL Number PCIL Correction

Old part

number

New part

number Description

Old

Q’ty
New

Q’ty Int 3DPC Page Index Set Set Int RTB Note Ref Number ECN Number

Katana-C1 Booklet Finisher BK5000 B836 201401 B8307530 D7077530 BRACKET:COUPLING:ASS'Y 1 1 O/O 3 22 V1303737 13101911



Part Change Information List Date: November 28, 2014

Model Code

PCIL

Number

PCIL

Correction

Old part

number

New part

number Description

Old

Q’ty
New

Q’ty Int 3DPC Page Index Set

Set

Int RTB Note Ref Number

ECN

Number

Katana-C1 Booklet Finisher BK5000 B836 201411 B4772333 D6122333 CUSHION:GUIDE PLATE:OPEN AND CLOSE 2 2 O/O 13 18 V1201724 12070397



Part Change Information List Date: July  2, 2015

Model Code

PCIL

Number

PCIL

Correction

Old part

number

New part

number Description

Old Q’
ty

New Q’
ty Int 3DPC Page Index Set Set Int RTB Note Ref Number

ECN

Number

Katana-C1 Booklet Finisher BK5000 B836 201506 B7007852 B7007853 STAPLER:SERVICE PARTS:ASS'Y 1 1 O/O N 19 13 V1500822


	MB 1: Caster H43
	MB 2: PCB: Stp: Control
	MB 3: Tear Cover Bracket - Left
	MB 4: Caster: Dia50: 400n
	MB 5: Timing Belt
	MB 6: PCB Main Control
	MB 7: Cover:Push Swich
	PCIL: April 2009
	PCIL: May 2009
	PCIL: July 2009
	PCIL: January 2010
	PCIL: July 2010
	PCIL: September 2010
	PCIL: October 2010
	PCIL: November 2010
	PCIL: January 2012
	PCIL: March 2012
	PCIL: April 2012
	PCIL: May 2012
	PCIL: June 2012
	PCIL: November 2012
	PCIL: January 2013
	PCIL: April 2013
	PCIL: August 2013
	PCIL: January 2014
	PCIL: November 2014
	PCIL: June 2015

